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— 77910 779U KD INIPR TOUaR MTY N0 920
27 maintains that regarding witnesses, where some were
disqualified, all are not disqualified

OVERVIEW

There are two mp1onn between 3"2w") °27. One NPY?nn is concerning 1712
7"32 192 and the second is concerning 7IwWY? MR, In both mpyonn, °29
maintains that the 912 is valid. The X713 infers from the NP1 concerning
7IWYS K, that °27 maintains 73212 7702 X2 anxpn 7202w N7y, That would
justify why 717 2192 ROW 77 2025 912° by 77wy K. If we were to maintain that
212 7902 YRR 770w MTY, we cannot maintain that you may be X5w 17 20an
7770157 71 2192, There is a mmn wwn, since the other 0°7¥ may not have
heard about the 7’2 and may write an invalid V3. M0 questions this
presumption. °27 can maintain 7212 702 NP TPV MTY and nevertheless
maintain that 777 °192 XPw 777 Hv2% 912° 723072, This is s™27 position that 9002
helps 72¥°72 even when there is a mAmn wwn.

mooIn asks:
= 19NN 1929N 13990 HVAY 9199 NYI9 NYVA KY 9209 ©7YUNY DD NI NN ON)

And if you will say; why does the X923 presume that *27 maintains that
even if some of the witnesses are disqualified nevertheless not all are
disqualified and therefore when °27 says in the Xn»73, and ‘he is able to
nullify’ the v3, in the case where he told ten people ‘write a 3 for my wife’,

that means even initially he may do that. If we maintain that this is what *21 meant,
then it is understood how the X7»3 infers that 7913 7902 XY 7n¥pn 7ovaw mv.! There is
however, another way of interpreting what 27 meant when he said that Xow 771 5025 912
17 °192, which is that —

= 7ay’1a HVaY 5199 Y91 IDPAN) NP NHLA 92D NNYY

Perhaps °11 maintains that 7912 7%wa 7ngpn 7202w M7V, and indeed 77°nno?
you may not be 17 °102 X7 17 Hvan and nonetheless he can be Yuan the v3
7272, If he was 77 *192 Xow 11 Hvan it will be >v1an. Indeed there is a concern that

! There is no concern in the case of WX VA 1203 7WY> MR, if he was 5van some of the o7v. Those that he
was 2van will not participate in the vx and the others, since 721 7702 R? will carry out his m°?w of writing
a v3. However if *37 would maintain 7713 7702 XY, then there would be a concern that the remaining 07y
may inadvertently write an invalid v3. *21 would not permit this 7271032, Mo0IN however is questioning this

presumption.
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perhaps the others will not hear the 1v°2 and will write the vi. If we maintain that m7y
7910 7va anxpn 72vaw the va will therefore be invalid. That concern would prevent the
%¥2 from being 17 °192 K7W 71 72° 1037 Y0an; however it is not sufficient to nullify the 1002
72Y°72.

mooIn brings support to this interpretation that even though 7%°1n3% you may not be van
777 °192 XOW 71, however 72772 it is a valid 51002:
- 51121 19V2 Y ION DIYY NNT

For previously in the case of 7"°22 1912, there 27 maintains that if he was

buan the 7"°22 vi it is PWa. The concern that perhaps the woman will not hear of the
2112 does not deter us from accepting the 72 as valid; even though °27 agrees that
72°'nn3% he may not be Yvan the 731 °192 v because of a MAmn wwn. Here too, by K
nwyy, there is the concern that the other 7y will not hear of the 2. They may
continue to write and deliver an invalid v3, since 77715 7202 An¥pPn 720aw M7Y. Therefore
"1 agrees that 12°mn>% he may not be 77 °192 X5w 71 Y021, nonetheless *27 will maintain
that 72v>72 the 92 is valid, and none may write the v3. The concern that the woman
may remarry with an invalid v3 does not seem reason enough to prevent a 2v°2, which
essentially is valid, from being accepted 72v°72. This 17 of a7 °192 ROW a7 YVI? N
follows the previous 1°7 of 722 Y702,

mooin will offer a possible explanation why the X n3 may have assumed that °29
maintains that he may by 77 2192 Xw 7771 Svan even 719°1na>,” and reject it.
= NYNNY VY 9N RAXY PINIY I8N KD D15 PWOHNY

because from the expression ‘he may’, the X7 cannot infer that it
would be permissible to be ®wan the v initially 7 *12 87w 1.°

mooIn rejects this inference; we cannot make that inference from the word 912°. The word
215> may be used even when it connotes something that is valid only 72v°72 —
=19 9593 2N NINN 19°2NY 9MIND VINT (8,01 97 xww N32) AN PO NINTH

As is evidenced in 27177 P92 where the X713 there says: he who says to his
friend I am giving you a gift -
=92 NNY 915

2 If S35 91> means 77°1N0Y, then it is obvious that *37 maintains 7913 7502 5. If he would maintain 7502
213, he would not have permitted the 72°mn>? 73, for there is a mnmn wwn, if the other 0*7v did not hear
of the 107,

3 If we were able to infer (from the word 213" that *27 maintains that he may be van the ;727775% 03, then it
is understood why the X713 presumes that *37 maintains 7213 7502 X? an¥pn 7°vaw My, for if "21 were to
maintain that 7915 7703, he would not permit that 7°1n3% one may be 2van the 17 °192 R7W 77 LA, since there
is a concern that the others will not have heard of the 910°2 and will write an invalid v3.
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The giver can retract and not give the present.
- NUYY 9139 9999

And the X ) there wonders; ‘he can retract’, that is obvious! There is
nothing binding on him that he must keep his word, since no "I was made. To which the
X7ma replies we should rephrase the ruling. Instead of saying 13", that he can retract —

=92 MINY 9510 NN NIN
Rather say that he is permitted to retract. There is nothing to stop him from
retracting even “19°nna%. This concludes the quote from that X3, We see clearly that the
term 912° does not mean solely that he may. If 912> meant that he may, what is the
difference between 713° and 2n? Obviously from that X773 we derive that 715> may mean
that he can, even if he should not. Here too the term 713> means he can be 9van, even if he
should not. The original question remains; since we have no way of knowing that 27
maintains that he may be 71 °192 X5w 17 712°1n3% Hvan, how do we infer that 21 is of the
opinion that 7915 7502 XY 7n¥pPH TH0AW MTY.

MDOIN answers:
— NN 2392 19°9X J02T 91977 2297 KND1 1D ¥IWUNT 90 v
And one can say; that it seemed to the X723 that s'>29 statement meant

that the %¥2 can nullify 77 *192 XW 71; even in the presence of only one of
the witnesses.

mMooIn has not yet concluded the answer, however mdo1n anticipates a difficulty with such
an assumption —
= DIYN MHND NIYAY 937 )PNRT 2) DY 9N

Even though anything connected to a m9»aw 927 cannot be accomplished

with less than two witnesses. How can the 8713 have assumed that 27 maintains that
719192 K9W 77 902 912° means even in the presence of one 7?1’

mooIn responds:
- %5131 NI 19VAN RIANY IIN MNKY NYYYIY 2

* It is not considered at all that he is untrustworthy (since it was merely a gift).

> It would seem that if he is Yvan in the presence of a regular 15w or if he is Yv2n in the presence of his wife
then two 07y are not required. However in this case since this 7¥ is only one of many, and the others are
still presumably writing the v3, it should be compared to a m>w; 192 XPw 02 where at least two 0°7v are
required, since it is a MIYaw 727. We need the two 07y to inform us that a 2172 took place to prevent the
other 07y from writing and delivering the 3.

% See yun "1 who explains that D1wn Mo MAYaw 127 PX, is only when we wish to change a previous 7P
status; either from a 77™115 to an WX NWX (by 7W17°P) or from an WX NWX to a Aw17x (by Pw13). In our case
she is WX nwX npma and the 72 is maintaining that 7pin, therefore D°wn Md MWW 927 PR is not
applicable. Concerning how the other 0>7y will be aware of the 212 is another issue. This is obviously
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Since he is saying to the mv>w himself that he is being >wa» his mn°ow,

therefore his M oW is Y¥a. When we are mbwn *192 Han there is no requirement of
any 0>7v. The %W knows that he is no more m>%w.

mdoIn is not yet ready to continue with the answer. moon is offering an additional
option, if the previous option, that 27 maintains that he may be van the MY in the
presence of only the 7v himself, is not acceptable.

= 179392 XYY N1 72 9392 HVAY D15 DIPN YN DY XY 211 RY 199N 9193 N

Or you may also say; even if the 710°2 will not be valid unless there are
two people who hear the 91°2; since 'a"3wn Mo MWW 127 1K, nonetheless
the X3 assumed that >3 maintains that he can be %va» in the presence of
two to satisfy the requirement of £°1wn Nd MIYaWw 27 PR, however the 72
1w 192 will be in the presence of one, but not in the presence of the
other. He will be 5van in front of two individual 7 separatelys.

Now that the X3 assumes that 27 was referring to either of these options’ we will
understand why the X713 presumed that >33 must maintain 7912 7202 X? InXPR 7202w MTY.
= 423572 929N D1V 1INT NI 229 199N NI NHVA INY

For if >27 would maintain that 72 1%wa an3pn g2vaw M7y, which would
mean that once he was Svan either one or two of the 2’m>w, the entire N7V is
7503, and the v3 is invalid, then even %29 would admit that in either of these

aforementioned options that it would not be 2 even 7272 -
- DVINT NIN PN 39D THA DY 393 IN NYY 29D /) 2392 XPITT D9¥Y NYYWI997S

As I explained previously' that only if the 1" was conducted in the
presence of three according to nww 29 or only in the presence of two

resolved, since *271 maintains 17213 79202 X5.
7 See yun 1o that this 1"X may be following the opinion of those who maintain that mmd MAwaw 727 PR
o°wn is even in a case where XM0°K PInX K7, See "7 7"7 2,2 Mvon. It is not clear whether this requirement
applies to all mm>?w 7172 or only to the case of TwWy? X .See footnote # 5.
8 This seemingly follows the view of p"2™ (see 2 Ty). By the actual w17 103 all will agree that there
must be two 079 present at the w171 1%, and 77 *192 X2w 771 will not suffice, because the o>7v create the
PYITPY P23, and 17 Y2 nR7 is insufficient. In our case we need two 0°7v to testify that the 9v2 was indeed
Svan the vx to prevent the other 0>7v from writing and delivering the wva (especially since we are now
assuming 7910 7202 An¥pn APvaw MTY). This is a question of MIAXI not of avp, therefore two 07y are
believed even if it is 77 192 Xow 1. See »"nn >"15.
° The X3 assumes that *37 meant either of these two options, since "271 said a7 "192 XOW 17T P07 N
indicating either in front of only one 7' or at most in front of two, as individuals, not as a pair since he said
"7 °192 ROW A7
10 99m1 2797 7"7 2,25 MpoIN.
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together'! according to yam 2-; only then will 27 maintain that it is w12,
However if he was v2an in the presence of one or two individually (according to 1", or
even two together according to w"9) it will not be Hv1an.'

mooin offers another explanation:13
= Y1217 [¥29] 9N 1732 19V237 23 HY N ) ON

Or you may also say that even though when he was 7''522 ®wa», there 529

maintains that it is %1122, nevertheless it is not comparable to 7IWY? K -
= MY NN DI WNMNY R DNNT DIVN 1IN

The reason is because there in the case of 7"°22 17v°2 there is no great

concern for M=rnn -
- 1Y N5’ XY NPNIN BT NHYY Y1 ONRY

For if the mY2 becomes aware of the 12 before the delivery of the v he

will not give it to her; to the wife -
- NYIN NY RVINY 0ND NUNRY N

Or if the woman becomes aware of the 7"°22 Va7 71072 (even if the 5w was
not aware and delivered the vi to her) before she remarries; she will not
remarry. There is sufficient protection built in that the wwn of mamn is greatly
diminished -

- DUYN 1 NEPN HYaN HVIAY HYND O B2 IWTIUI 1PN IN YaN
However here in the case of 1202 77wy X and he was Yvan some of the
a»7y, even if all the other 0>7v are aware of the 91°2 of the few, and also
even if the woman is aware that the husband was »wa» part of the

original ten -
= 109 P HY RYWIN 1HYVANI KXY DIINNY DINAD 1N 1YV DY

" Two people together comprise a 7' (in limited circumstances). However two individuals separately are
not considered a 7"2. The original 021 nipn (before 117 3" NIPN) was that a AWRM MOHW 192 ROW Y100
must be performed only 7"2 °192. The 77 of a 7"2 (even of two), is greater than the 21p of 17 *192 X5W 7.

"2 mooin explained before that in such a case the MAmn wwn is so great that even 27 admits that 11X v2
Suian. Here also since the 1% was not in the presence of three and not even in the presence of two
together, therefore there would be no 2102, if 27 would maintain that 7215 7202 Anxpn A°vaw Mv. In this
case there is the mnmn wwn, since there remain other 0°7v who may not be aware of this 71°2. There is no
sufficient 9p. It is just like he was Svan it 72 102 R5W and 1°5WwWmM 7WRI 102 ROW, where even °27 agrees
that the nman wwn is so great that 50127 1R 1701, If however 27 maintains 7713 7902 X7 NP 720w MTY,
it is well understood why %127 219° (even 17°1n3%) since there is no wwn at all. The other o*m>w may 772°1n3?
write the v3 since 71?12 17702 XY, they are still valid o°7v.

" There is a distinction between the 91°2 in the case of 77w¥> InX to the 7"°2 *192 "2, Even though 27
maintains that 7"°2 %192 17v°2 it is 72¥°72 Y0127, nevertheless in the case of 7IWYH MK, if °37 would maintain
912 1912 An¥pn A°vaw MY, he could not agree that 17w SvIan (even if he were 2van the 7">2 *192 V).
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Oftentimes they may err; both the remaining 2°7¥ and the wife and they
will mistakenly maintain that the others (the remainder whom he was not

%van) are not Yuv2 and she will remarry based on her u3 that she received

from the remaining 2°7¥ -
= Y1121 1IRT NI NN NP1 NHVA 921D NN ON 799

And therefore the X concludes that if °27 would maintain that M7y

792 9ua IN¥Pn 7702w, even an would agree that the v is not Hwan. The
danger here is too great that she may mistakenly remarry. [There are no safeguards. Even
if they are aware of the 72, they may be mistaken concerning the 7. As opposed to
722 1913; there as long as they are aware of the 712 she will not remarry.] However if
we maintain 7913 7702 X, then there is no concern at all, and he may be 9v2» some of the
7y (even 712°1N37).

- INOY1) 12 PYNY 1395 51 2295 3N D7UN PONDNRY NI AV SNN T s
And according to what was just explained, that we cannot compare the case
of 722 17v2 to the case of 7IWY? MK (as MdoIN has just taught us) it is
properly understood what the 8723 is doubtful in which case the 17077 is

like "2= and in which case the 710777 is like 3''2w= —
- ANYPN AYVAY MY 1NN 11DDINT INNPY 199N

Even according to that which we established that their argument is based
on whether PR VAR NYTY is 791 7903 or not .

mooIn explains how the Po0 is justified:
= 9012 19Vr23 9295 )Y NP IIPONT

For even if we accept the view of "3 concerning 7"°22 19v°2 that 9wa
buvan, nevertheless -
— 5991 12 PYNY 1299 HIVAY 999V S8 Nt 2393 NI Na

' There are two nip1onn between 3"2w7 °21. One NpYomn is concerning 732 *192 212, and the second is
concerning 7wyY? R, The Xn) later states: it was taught that in one n17nn the 7377 is like *37 and in the
other the 713%77 is like 2"2wn. However we are not sure which is which. If we were to assume — as NN
maintained in his question — that the reason why °271 maintains in the case of 7IWwy? TnX that 2035 712 is
because "171 maintains 21121 1702 (by 7"°2 192 710°2), then what is the doubt of the X7na later. If the 1377 is
like >3 that 21121 1%1°2 by 72 "192 then the 17577 should be like *27 also by 7wy? R, If we assume that
the two cases are identical, as M0 proposed in his question, there is no difference between 7"22 1512 and
WYY MR,

'> The xx offers another option of how to interpret the npY2m» between 3"2wM *21 by 7wy> K. Their
nponn hinges on whether 7°922°n% 77w XX 7IWY "X MRNAT XN or not (see '2 TnY). According to this
interpretation then even if we maintain that the 7397 is °3715 by 7"°2 >192 1902 that Y0121 Y203, nevertheless if
we maintain that 77wy X3°1% then in the case of TWY? MK we can agree with 3"awn.
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In the case of 7 Wy¥? 7R where he was ;17 %192 X5 77 Hvan, the X3 can

properly rule as 3"'2w9 that 77 °192 X5w 77 5027 9157 WX -
= 910132 1IRY NIVYY 99IN AN NN NI NHLA 92D NN IN 29 IT2ANY

because even 21 himself who maintains 0121 1202 by 7"2 192, if he would
have maintained that 77915 7w nngpPn 7702w M7y, he would have agreed

that in the case of 7wy 22K that it is not »v2; because the mmn wwn is too
great. This is true whether he was %v2an in the presence of a 7"™3, since the 0>7v and the
TWX may mistakenly think that the v3 is valid even after they heard of the 21v°2 (according
to the last y17°n); or whether he is 027 in the presence of one (or even two [separately])
which is not considered a 7"2 (according to the first 2°¥17°n), in either case *27 would
agree that it is not a 7102 if 7712 7702 N¥Pn "PvaAY MTY.

mdoIn will now bring s""wA interpretation:
= D915 NYVAT HNIDMH 12 PYNY 12957 ¥YIYN DIVIPN WITO TINN VAN

However, from >'"2 it seems that 3''aw when he maintains 7910 179v2 by

TIWYY MR it is not a separate 71577 but rather —
= INOD1I) 129 MPHN N 9N

That this also was part of the 2" nipn. 3" was 1pnn that 732 *192 9071 is invalid.
That 73pn includes, that by 7wy nx the 201 is invalid as well.'®

mooIn poses one difficulty with this interpretation:
= YTTAN T RD MNINY MPN 2391 9INT INIPY TN Yy

And ~"w" will be forced to say that according to the one who said that 3"
made his 73pn that a 7"22 71002 is not valid was for the benefit of nmuanw;
that the 7170 of 72 °192 and the 71PN of 7WY? nX are not similar to each

other. The n1pn of 72 °192 is a MY NIPN, not 21 NIPN; however, the 7PN of MK
AWYY is a MATM WK WK NIpN as the Xn3 clearly states' .

mMooIn has an additional comment to make concerning >"w7°:
= DNODNI) 12 PYNY 1395 9N 9295 N D7YN PANDNRY NN DN NIVNY VIV

And according to s""w" interpretation that he equates the two 2°17 of
7™3 °192 and 77WwY> X that they both stem from " nipn,'® it will be
necessary to say, that which the 8923 is doubtful where do we follow %29
and where do we follow A" 2w", this question is valid —

16 mpoin derives this from 13° 1% 71"7 *"wA where "2 says: 121 71pNT 1A 17 ARW. Y"w1 also maintains that
when "21 said 025 9137 it is self understood to mean 32°1n3 Y027 M. See YL 710 "7 "W,
71t cannot be My nipn (also), for he exerted himself to go to the 7¥ himself.
'8 There is no greater wwn of MAman by one more than the other.
7

TosfosInEnglish.com



527 73"7 '01N X272 PUUa 702

- 1P95Y1Y NIVY 22 155982 1INV SPINT N1 29T NPIT 1IN
Only specifically according to the view in which their argument regarding
Twy? K was based on whether it is necessary for ten to uproot the original
commitment or it is not necessary. If this is their argument concerning 7wy? K, then

we can understand that even if the 713%7 is like °27 concerning 7" *192 1913, nevertheless
by 77wY? 9K we can maintain that it is not 70121 since 97w N7 WY 22 v,

= PANUVNY PR NNYPN NHLAY MTYL INNND PINT INNY DAN
However, according to those who establish that their argument
regarding 7OWY? 1K is contingent on whether 2P T9waw MTY is 7913 7702
or not there is no room for doubt -
- %295 51131 19V23 )Y NP INT
For if we maintain that 7">2 °192 it is w127 Youea like 327
- HNOY) 12 PYNY 1293 Y993Y NIUYY IIND POIINIY Y81 NY 1N
it is no more possible to rule in the case of 7wy> TN entirely’ like
aaws -
= 1915 NHVAT NN Y NP 1PPANT
For even if we were to rule like 2"2w" concerning that 7nxpn Fovaw M7
7912 7T9Wa, and therefore there is the wwn that perhaps the other 2>7y will not hear of the

91002 and write the 170 X2W v, nevertheless —
- TIMD 19 NP RY 12993 199X I3 9IVAN PRY NPT INNPA

In that which x"2v1 says that the 12 will not be valid even 73¥°72 by

7wyh nx we will not rule like 3"2wA. Rather we have to rule like °27 that 19va
Sman. According to >"wA the reason why 3"2w1 maintains by 77wy R that 5027 7150 1R,
for it is an extension of A"1 nipn, and even 72v°72 it is not valid since 719° 7™2 12 PX.
However if we maintain like °27 concerning 7"2 °192 1902 it is Sv12an and we are not
concerned about "1 nipn and 79° 7"2 1> 71, then the same should apply to 7wV nK,
since they both stem from the same 73pn according to >"wA.%° The wwn of mAmn does not
invalidate the 72v>72 7002

mooin offers a possible solution to the previous difficulty on >"wA.
- 2lyayst waws XY HNO9M) 12 PYAY 129 MINDT D199 1INRT MYNRYN ON 171

However, if the meaning of the phrase %12 19K ‘he cannot’, which 3'""2w-
stated that he cannot be van; if that phrase were to be understood that it

" moown will shortly remark that we may agree with 3"2w1 partially.
0 See ‘Thinking it over’ # 1.
! See “Thinking it over # 2.
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does not mean that even 72¥°72 it is not a 712 -
= 99V NN NIINNIY 4N YIYT 2291 SPIIND NONT NON
But rather the expression 712’ 1% is meant to argue on °37, that he [>37]
permits the 7wY? TMKR2 710°2 even initially and 3"2w argues and maintains
that even if you™ (°27) maintain that 72¥°72 it is a 212, but 79N> you
should not be Hvan because of 2mMn Wwn, since 7713 792V INXPA 7702W NTY,
then it will be properly understood -
— TINXPR VAR NITYR AHDT RIWIHY ISR pENDnT
That the X9»3 is doubtful even according to the view that they argue
regarding WY IR, whether n2pn A9Waw NITY is 7912 7702 or not. We could
then maintain that 7"2 °192 the 73%:7 is like *27 that 72372 51121 1912, however concerning
7IWY? R, since we maintain that 7913 7702 In¥PR T°Vaw MTY then 77°1n02% one should
not be 17 °192 XOW 17 Y0, just as one should not be 7"2 *192 7%5°1N3% Y021, In both cases

there is a mamn wwn. If however one was v2an then in both cases by 7™2 *192 and 1K
7wy it will be a valid 72v>72 7002,

This is how we could possibly reconcile the X33 with *"wa w17,
= DHVNPA YT T2 1N TAYTA 1DPAN INITIN) 12 )9NIY 1295 DIPN YO0

But nevertheless according to 3""aw= himself even 7272 it is not **>wian,

as v'"'w1 explains that it will not be Y1 even T2y°72 —
$119% 197 %2 N NN 13 OX MINPT YT NIND NN

On account of what was said previously for the X9n3 said if so (that the
?1v°2 will be valid 723°72) then what is the power of 7''°2 worth.

SUMMARY

There are two explanations why the X773 presumes that *27 can maintain that
7192 ROW 177 K122 9120 by 7wy TnR, only if he maintains 7nXpn 720w M7V
1215 7902 RY:

A. The expression 17 °192 K7W 71 Hv2? 715 indicates that he is being %02 in
the presence of only the 7v himself, or at most, ;7 192 X5W, in the presence of
two separate individual 0>7v. [The issue whether he can be 7¥7 °192 Hvan
alone or if it requires two 777 °192 ROW 11 2°7¥, depends whether the rule of X
mMvaw 27 applies here.] In either case this is not a 7"22 w2, Even °21
agrees that a 7"22 X5w 92 is an invalid 21v°2 even 72372, Therefore the

*% 3"2w1 will obviously maintain that even 72y°72 it is not a 2102 as Mo will shortly point out.
¥ See “Thinking it over’ #2.
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only way it can be 12 (even 72¥°72) is if 27 maintains 7713 17702 X, for then
there is no wwn at all and the 910°2 may be performed even 712°1n2%.

B. The case of 77wy% X is more complex than 722 1%v°2. Even °27 would
agree that by 7Wwy% K it is not 2v12n even 72¥°72 (unless he maintains X%
7713 71902). In the case of 722 19v3, once we are aware of the 710°2 there is
no wwn. However in the case of 77wy% nX even if we are aware of the 7112
of some of the 07y, nevertheless we may mistakenly think that the others
may still write the va. It is an unacceptable risk of MmN wwn.

This also explains that even if we maintain that 5vy2n 7"22 1702 like "29,
nevertheless if we were to maintain 77710 7902, we would have to maintain
that 77 °192 X5W 77 5025 2127 1K like 2"2wn.

"1 however maintains that the two np1onn stem from the same source;
Whether 719° 7"2 1> 11 can invalidate the 91002.

We would be able to disentangle the two Mmp12rn if: a) we were to maintain
that the second npYonn is concerning *5%wn% 7wy 2 °>°MX; or b) if the
second np o would be regarding whether the 710°2 may be done 77°rinob.

THINKING IT OVER

Why cannot >"w answer”" like mao1n that even though the ;79971 is °273 that
SvIan 722 19032, however by 7wy Tnx, the 17 is that it is not V3, since
there is a greater wwn of nrn?

How can mpoin state™ that the @ of 913° that 32w says means only
72°1n% and then say*® that according to 32" it means even 719°727

* See footnote # 20.
2 See footnote # 21.
% See footnote # 23.
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